Chapter 6.3 Notes
Exponential Functions

* Average rate of change formula: change iny
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* Exponential function formula: f(x) = Ca Where c= constant, and a=growth factor.

1. Determine whether the function given by the table is linear, exponential, or neither. If the function is
linear, find a linear function that models the data; if it is exponential, find an exponent entail function that
models the data.
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2. Determine whether the function given by the table is linear, exponential, or neither. If the function is

linear, find a linear function that models the data; if it is exponential, find an exponent entail function that
models the data.
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3. Use transformations to graph the function. Determine the domain, range, horizontal asymptote, and y-

intercept of the function. ‘[.)*{5’ G
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4. Use transformations to graph the function. Determine the domain, range, horizontal asymptote, and y-

intercept of the function. (¢ . ; ent
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5. Use transformations to graph the function. Determine the domain, range, horizontal asymptote, and y-
intercept of the function.
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6. Solve the equation.
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7. Solve the equation.
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8. Solve the equation.
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9. Solve the equation. . Dose
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